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I Status of the “scratching bird” - valid for y11¥n nanv (i.e. — 1NV to be eaten) — that is the “white sparrow” regarding which
®" and onan disagreed (above, in extending 27 to 1'n — 8™ prohibiting)
a  Versionl (7°08): they disagreed about green-bellied bird; all agree that white-bellied sparrow is permitted — X" na%n
b Version2 (8701t 7p): disagreed about white-bellied sparrow; agreed that green-bellied sparrow is forbidden — 13273 na%n
i Analysis: statement m2a% n11o &0 11 only works according to v2; to version 1, all agree that white is permitted
1 Answer: they agree to exclude black-bellied (domestic) sparrow
II  Extension of o1n and My 1 to similar birds
a A7 227 »on — akin to 01y (only valid when young); '9»¥R8T and nan1 »n are akin to p1n (only valid when mature)
i Challenge (¥»vp 73 55227 37): ruling that any bird drinking from nxvn ' invalidates it (due to backwash) except mv
1 And:if Yon isjudged to be like mv, should include % on in excluded birds
2 Answer: Yon spits back; N1 doesn’t
ii A7 37 1% PN are valid for nam (nam Yw PN mentioned above)
1 Challenge: v. 1 indicates 211x and that excludes any “modified” moss (e.g. 17’ 21R)
2 Answerl (»2x): anything that’s name was changed before N1 1nn and the nmin was exacting in its demand —
25yn and hese birds’ alternate names are “new”
3 Answer2 (837): in their home region, they are just called p1n
III Identifications of various birds
a /77 17 those locusts that reside among wild bushes are 1mn; those that are found in the cabbage n1ox
i ~227 and mon are given for eating the latter
b A7 27 R1IX (type of bird) permitted, X171 is prohibited (12°0 — 7’10 72); RTIN is a Pav
i ’oN 277 other mpav (lists them) —because their gizzard only peels with a knife,
1 Even if: left out in the sun, unlike duck brought to YR1nw that was peeled by hand after being in sun
2 »ax. the rooster of the marsh is the Y1 2 pav
¢ ~99 37 the rooster of the marsh is 1R, but the hen is 1mn (1970 — NNY R’ MNY)
i 718 observed that hen attacking other birds — known as xnmy17
27. the nvva bird is MR, the Mmaw-bird is Imn (770 — ®Y*V7 N8 - evil pro-Zoroastrian king in 5™ c.)
N2177 27 812 is permitted, NR19 is prohibited (jn°0 — N1 was a well-known winR [sorcerer>wicked])
977 the 1771 that reclines (1) to eat is permitted, the one that bows to eat (1230) — 1108 (0 - v. 2)
S81pw. the bird known as “wine drinker” is prohibited (1’0 — 1 »nw are invalid for nTay)
S8mw: the bird known as “wine-mixer” is prohibited; X1 Xarn na is permitted (390 — akn Nan 120 N 1Y)
17 27 the flamingo (X10°pw) has some types which are 91mn, others — Mior
1 27. description of 79w and na»>17 — 13NV "1’s response to seeing 79w and ant (v. 3)
7p2pN: some birds are MoR only in places where similar-looking birds, which are 11oR, are to be found
1772 definition of nnwin — from context, is bird (v. 4) or y7w (»aR identifies each)
771777 37, further identifications — nRp and oY - MTaR about onA (v. 5)
~r2272: the raven — is black (v. 6); 11n% extends to white (“valley”) raven (v. 7); 'nn% — a raven with a dove’s head
1 27. defniition of non and nair — different types of kite-birds
IV Reassessing the list of “24” nrnv maw (R» ®1p» lists 20; 7 027 lists 21)
a  Suggestion: nR7T, not listed in 027, could be added - but that leads to 22
i Answer: add nynY (x2), wnY and 1nwnY (v. 8); but that leads to 26; subtracting nx7 still leaves 25
it Answer: w1 R are the same; 7R listed in 127 (v. 9) to clarify n71, not to add another type
1  Note: this is at odds with 1ar "3 who identifies m*R::nR7, that it sees far (v . 10)
2 Therefore: ynar "1 must identify all four (nR7 ,AR7 R ,7177) as one bird - he only has 23 rnv maw
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